Tables d'additions

0] I 2 3 H
0+0=0 0+l=| 0+2=2 0+3=3 0+4=4
1+0=| |+1=2 |+2=3 |+3 =4 |+4=5
2+0=2 2+1=3 2+2+4 2+3=5 2+4=6
3+0=3 3+1=4 3+2=5 3+3=6 3+4=7
4+0=4 4+1=5 H+2=6 4+3=7 H+l=8
5+0=5 5+1=6 5+2=7 5+3=8 5+4=9
6+0=6 6+1=7 6+2=8 6+3=9 6+4=10
7+0=7 7+1=8 7+2=9 7+3=10 7+4 =1
8+0=8 8+1=9 8+2=10 8+3=| g+4=12
9+0=9 q+1=10 q+2 = A+3=12 q+4=13
0+0=10 0+1=1 0+2=12 0+3=13 0 +4 = 1

5 Z 7 8 9
0+5=5 0+6=6 0+7=7 0+8=8 0+9=9
1+5=6 1+6=7 |+7=8 1+8=9 |+9 =10
2+5=7 2+6=8 2+7=4 2+8=10 2+9=|
3+5=8 3+6=9 3+7=10 3+8=| 3+9=12
4+5=9 4+6=10 4+7 =1 4+8=12 4+9=13
5+5=10 5+6 = 5+7=12 5+8=13 5+9=H
6+5=I 6+6=12 6+7=13 6+8=H 6+9=05
7+5=12 7+6=13 7+7=H 7+8=15 7+ 9d=16
8+5=13 8+6=H 8+7=15 8+8=1lb g+d=17
9+5=H 9+6 =15 9+7 =16 9+8=17 9+9=18
0+5=15 0+6=16 0+7=17 0+8=18 0+9 =1
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Tables de soustractions

0

2

3
!
5

L}
L}

L}
0-4=6
I-4=7
2-4=8
3-4=9

M-4=10

0-9-=1|
h-a9=2

9-9=10

3
3
3
3
0-3=7
h-3=28

2-3=9

13-3=10

0-8=2
h-8=3

18 -8 =10

2

2

2

2

2
0-2=8

I-2=9

12-2=10

7-7=0

0-7=3
-7 =4

7-7=10

=0

=9

10 - |

I-1=10

0-6=4

l-6=5

I2-6=0

3-6=7

H-6=8

5-6=49
lb-6=10

0-0

1-0=
2-0

I0-0=1I0

5-5=0

9-5=4

0-5=5
I-5=6

2-5=7
3-5=8

H-5=4

I5-5=10
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Tables de multiplications

I 2 3 4 5 6
IxO0=0 2x0=0 3x0=0 Hx0=0 5x0=0 6x0=0
IxI=1 2x1=2 3x1=3 Hxl=H4 5x1=5 exl=0
Ix2=2 2x2=H4 3x2=6 Hx2=8 5x2=10 ox2=12
Ix3=3 2x3=06 3x3=9 Hx3=12 5x3=0[5 6x3=18
Ix4=4 2x4=8 3x4=12 Hx4=1lo 5x4=20 ox4=24
Ix5=5 2x5=10 3x5=b Hx5=20 5x5=25 6x5=30
Ix6=06 2x0=12 3x6=18 Hxo6=24 5x6 =30 6x06=30
Ix7 =7 2x7=H 3x7=2 Hx7=28 5x7=35 ox7=H2
Ix8=28 2x8=lo 3x8&=24 Hx8&=232 5x8=H0 6x8=H8
Ix9=9 2x9=18 3x9=27 Hx9=2306 5x9=45 6x9=54
Ix10 =10 2x10=20 3x10 =30 4 x 10 =H0 5x10 =50 6x10 =60
[x 1= 2xl=22 3xl=233 Hx Il =44 5xl=55 oxll =606
Ix12=12 2x12=24 3x12=30 Hxl12=H38 5x12 =60 bxl2=72

7 8 9 10 Il 12
7x0=0 8x0=0 9x0=0 Ox0=0 Ix0=0 I2Zx0=0
7x1=7 8x1=8 Axl1=9 0x1=10 =1 2xl=12
7x2=H 8x2=1lo Ax2 =18 0x2 =20 Ix2=22 2x2=24
7x3=2 8x3=24 Ax3=27 I0x3 =30 Ix3=233 12x3 =230
7x4=28 8 x4 =232 x4 =236 10 x4 =40 x4 =44 2 x4 =H8
7x5=35 8x5=H0 Ax5=45 10 x5 =50 x5 =55 12 x5 =60
7x6=H2 8x6=H8 9x 6 =54 I0x 6 =60 I x6 =66 1Zx6=72
7x7 =49 8x7=5 Ax7 =063 I0x7 =70 Ix7 =77 12x7 =284
7x8=5 8x 8 =6H Ax8 =72 I0x & =80 Ix& =233 12x8 =9
7x9=063 8x49=72 9x9=4§ I0x9 =490 Ix9=99 12 x 9 =108
7 x10 =70 8 x10 =80 ax10 =490 10 x 10 =100 I x10 =10 12 x10 =120
7x=77 8xIl =88 Axll =99 I0x 1 =10 Ix1=12 2 x I =132
7x12 =84 8xl12 =9 9xI12 =108 I0x12 =120 I x12 =132 12 %12 =144
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